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PHYS 102:General Physics | KOG UNIVERSITY Spring Semester 2016
College of Sciences

Section 1 Quiz 6 I8 March 2016

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: 'K\,N_\m ARISE YV Student 1 1) 349524 Signature: szﬂfha[f}‘m
A force F is applied to a 2 kg radio-controlled model car parallel to the x-axis as it moves
along a straight track. The x-component of the force varies with the x-coordinate of the car as
shown 1n the figure. Calculate the work done by the foree 7 when the car moved from
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PHYS 102:General Physicsl  KOC UNIVERSITY  Spring Semester 2016

College of Sciences
Section 3 Quiz 6 18 March 2016

Closed book. No calculators are to be used for this quiz.

Quiz duration: 10 minutes

Name: Student 1D: Signature:

You are asked to design spring bumpers for the walls of a parking garage. A freely rolling

1200 kg car moving at 05 m/s is to compress the spring no more than 0.1 m before stopping.
What should be the minimum force constant of the spring. Assume that the spring has

negligible mass.
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